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1. Atlantis is a small, isolated island in the South Atlantic. The inhabitants grow potatoes and catch fresh fish. The accompanying table shows the maximum annual output combinations of potatoes and fish that can be produced. Obviously, given their limited resources and available technology, as they use more of their resources for potato production, there are fewer resources available for catching fish.

                               Maximum annual output options


                        Quantity of potatoes      Quantity of fish



          (pounds) 

(pounds)

A 

          1,000 


       0

B


 800 


   300

C


 600 


   500

D 


 400 


   600

E 


 200 


   650

F


     0 


   675

a. Examine the Maximum annual output options table above and the resulting Production Possibility Frontier Graph below and answer parts b - f.

                  Production Possibility Frontier Graph
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b. Can Atlantis produce 500 pounds of fish and 800 pounds of potatoes? (5 points)   Explain. (5 points)

My answer:
No, Atlantis cannot produce 500 pounds of fish and 800 pounds of potatoes.

Explanation:
By looking at the graph at "point b.", we can see it is well outside that of the available resources.

c. What is the opportunity cost of increasing the annual output of potatoes from 600 to 800 pounds? (5 points)

My answer: 
Looking at the graph, you see going from 600 to 800 = 200 pounds of potatoes.  This requires going from 500 to 300 pounds of fish, which means the opportunity cost is 200 pounds of fish.

d. What is the opportunity cost of increasing the annual output of potatoes from 200 to 400 pounds?  (5 points)

My answer:
Looking at the chart we can see going from 200 to 400 pounds of potatoes equals 200 pounds of potatoes.  At the same time this requires going from 650 to 600 pounds of fish.  This means the opportunity cost is 50 pounds of fish. (Krugman & Wells, 2009, pp25-29)
e. Can you explain why the answers to parts c and d are not the same?   (10 points)

My answer:
C and D are not the same because to increase each additional pound of potatoes costs more pounds of fish than the previous pound of potatoes.  The first 200 pounds of potatoes cost 50 pounds of fish, or 1/4 pound of fish per pound of potatoes.  The third 200 pounds of potatoes cost 200 pounds of fish, or 1 pound of fish per pound of potatoes, or that would be 4 times what the first 200 pounds of potatoes cost.  What this means is that potatoes have an increasing marginal cost compared to fish.

f. What does this imply about the slope of the production possibility frontier? (10 points)


My answer:
Because the "Production Possibility Frontier" curve represents an increasing marginal cost of potatoes compared to the fish; the "Production Possibility Frontier" curve has an increasing slope that slopes down and the right but bulges outward as it descends.  Also, in the beginning of production of a commodity, the best resources for making that item are employed first.  As more and more production that commodity is created, poorer resources for making that product must be employed to further increase output.
2. Peter Pundit, an economics reporter, states that the European Union (EU) is increasing its productivity very rapidly in all industries. He claims that this productivity advance is so rapid that output from the EU in these industries will soon exceed that of the United States and, as a result, the United States will no longer benefit from trade with the EU.

a. Do you think Peter Pundit is correct or not?  If not, what do you think is the source of his mistake (10 points)?

My answer:
Peter Pundit is not correct because he has mixed up absolute and comparative advantage.  Even if the EU were to have absolute advantage over the United States in every product it produces, the United States will still have a comparative advantage in some products.  And, the United States should continue to produce those products; trade will make both the EU and the United States better off.
b. If the EU and the United States continue to trade what do you think will characterize the goods that the EU exports to the United States and the goods that the United States exports to the EU (10 points)?

My answer:
You should expect to see the EU export those goods in which it has the comparative advantage and the United States export those goods in which it has the comparative advantage.

3.  Suppose that the supply schedule of Maine lobsters is as follows:
Price of lobster 
Quantity of lobster supplied
(per pound)


 (pounds)
$  25 



800
$  20 



700
$  15 



600
$  10 



500
$   5 



400
Suppose that Maine lobsters can be sold only in the United States. The U.S. demand schedule for Maine lobsters is as follows:
Price of lobster 
Quantity of lobster demanded
(per pound) 


(pounds)
$ 25 



200
$ 20 



400
$ 15 



600
$ 10 



800
$   5 



1,000
a. Looking at both the schedules of supply and demand, as well as the graph of the demand and supply curve for Maine Lobsters, what is the equilibrium price of lobsters and the equilibrium quantity of lobsters demanded and supplied at that price? (5 points)
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b. Now, suppose that Maine lobsters can also be sold in France.  The French demand schedule for Maine lobsters is as follows:
Price of lobster 
Quantity of lobster demanded
(per pound)


 (pounds)
$ 25 



100
$ 20 



300
$ 15 



500
$ 10 



700
$  5 



900


What is the demand schedule for Maine lobsters now that French consumers can also buy them? (5 points)
c.  Using the combined Us and French demand schedule, the US demand schedule and the supply schedule, and the graph below, analyze the change in the market for lobsters. (hint: use the 10 question Worksheet approach)  Explain your analysis and answer these two questions.  

What will happen to the price at which fishermen can sell lobster?   
My answer:
The new equilibrium price of lobster is $20 per pound and the new equilibrium quantity is 700 pounds.  This is represented on the graph at point E where the US & French demand intersect with the supply (where the green and red intersect).

The opportunity to sell to French consumers makes Maine fishermen better because they sell more lobster and at a higher price than before.

What will be the final output of lobsters? (5 points) 
My answer:
The final output of lobsters is 700 pounds (that’s 400 by the United States and 300 by France).

Build a table
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d. What will happen to the price paid by U.S. consumers?   What will happen to the quantity consumed by U.S. consumers? (5 Points)

My answer:
United States consumers are made worse off - they must pay a higher price for lobster (that is, $20 rather than $15 per pound), and as a result consume less lobster (400 pounds rather than 600 pounds).

4.  As noted in the text, European governments tend to make greater use of price controls than does the American government. For example, the French government sets minimum starting yearly wages for new hires who have completed le bac, certification roughly equivalent to a high school diploma. The demand schedule for new hires with le bac and the supply schedule for similarly credentialed new job seekers are given in the accompanying table. The price here—given in euros, the currency used in France—is the same as the yearly wage.



Quantity demanded
Quantity supplied

Wage

     (new job offers
       (new job seekers

(per year)

per year)

per year)

€45,000 

200,000 

325,000

€40,000 

220,000 

320,000

€35,000 

250,000 

310,000

€30,000 

290,000 

290,000

€25,000 

370,000 

200,000

a. In the absence of government interference, what is the equilibrium wage and number of graduates hired per year?  (Also see the diagram)  
My answer:
The equilibrium wage is €30,000, and 290,000 workers are hired.

Will there be anyone seeking a job at the equilibrium wage who will be unable to find one— that is, will there be anyone who is involuntarily unemployed?   (5 points)

My answer:
There is full employment - nobody is involuntarily unemployed.  The equilibrium is at point E.
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b1. Suppose the French government sets a minimum yearly wage of €35,000. (Also see the diagram)   Is there any involuntary unemployment at this wage?  If so, how much?   Explain why. (5 points)

my answer:
With a minimum wage of €35,000, there is a surplus of workers of 60,000 (the quantity supplied is 310,000 and the quantity demanded is 250,000).
This means there are 60,000 workers that are involuntarily unemployed.
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b2. What if the minimum wage is set at €40,000?  (Also see the diagram)   Is there any involuntary unemployment at this wage?  If so, how much?  Explain why.  (5 points)
my answer:
At a minimum wage of €40,000, there is a surplus of workers of 100,000 - this is the number of involuntarily unemployed workers.
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c. Given your answer to part b and the information in the table, what do you think is the relationship between the level of involuntary unemployment and the level of the minimum wage?  
my answer:
The higher the minimum wage, the larger the amount of involuntary unemployment.

Who benefits from such a policy? (10 points)

my answer:
The people who benefit from the policy are those workers who succeed in getting hired - now they enjoy a higher wage.

Who loses?
my answer:
Those workers who do not get hired.  However, if the market were allowed to reach equilibrium, more workers would be employed.  Employers also lose because fewer employers can now afford to hire workers, and they need to payer higher wages.

What is the missed opportunity here?
my answer:
The missed opportunity is that there are workers who want to work at a wage lower than the minimum wage and firms that would willingly hire them at a lower wage, but because the wage is not allowed to fall below the minimum, they will not be hired.

5. For the last 70 years the U.S. government has used price supports to provide income assistance to American farmers. At times the government has used price floors, which it maintains by buying up the surplus farm products. At other times, it has used target prices, a policy by which the government gives the farmer an amount equal to the difference between the market price and the target price for each unit sold. Consider the market for corn depicted in the accompanying figure.

Price of corn

quantity of corn (bushels)

Per bushel

demand

supply

$5


800


1200

 4

 3


1000


1000

 2

 1


 1200


 800

 0

a. If the government sets a price floor of $5 per bushel, what does that mean and how will it affect supply and demand (illustrate on the supply and demand curve below)?    How many bushels of corn are produced by the farmer?  
my answer:
With a price floor of $5, the quantity of corn supplied is 1,200 bushels

How many bushels of corn are purchased by consumers and at what price?  
my answer:
The quantity demanded is only 800 bushels at $5 a bushel (for a total of $4,000), which is a surplus of 400 bushels.

How many bushels of corn are purchased by the government and at what price?  
my answer:
The government has to buy up the surplus of 400 bushels at $5 a bushel.

How much does the program cost the government?     
my answer:
This will cost the government  a total of $2,000 (400 bushels x $5).

How much revenue do corn farmers receive?  (5 points)

my answer:
Corn farmers sell 1,200 bushels (800 to consumers and 400 to the government) and make 1,200 x $5 which equals a total of $6,000 in revenue.
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b. Suppose the government sets a target price of $5 per bushel for any quantity supplied up to 1,000 bushels. 

What does that mean and how will it affect supply and demand (illustrate on the supply and demand curve below)? 
my answer:
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How many bushels of corn are purchased by consumers and at what price? 
my answer:
The quantity demanded is only 800 bushels at $5 a bushel (for a total of $4,000), which is a surplus of 200 bushels.

How many bushels of corn are purchased by the government, if any? 
my answer:
The government has to buy up the surplus of 200 bushels at $5 a bushel.

How much does the government pay the farmer and at what price? 
my answer:
This will cost the government  a total of $1,000 (200 bushels x $5).

How much revenue do corn farmers receive? (5 points)
my answer:
Corn farmers sell 1,000 bushels (800 to consumers and 200 to the government) and make 1,000 x $5 which equals a total of $5,000 in revenue.
c. Which of these programs (in parts a and b) costs corn consumers more?  Explain.

my answer -
B (in theory) – should cost the consumers more because the less revenue that is being generated, the higher the costs to the consumer.  A good example is when a fruit or vegetable is out of season, it’s very expensive to buy to it.

Which program costs the government more?  Explain.  
my answer - 
A – costs the government more because the more surplus that is created, the more the government has to fork over to the farmers.

What are the inefficiencies that arise in each of these cases (parts a and b)?  (10 points)
my answer -
A-The inefficiencies in A is as surpluses are increased, the government has to buy it from the farmers.  This can equate to higher taxes to the citizens as the government scrambles to pay their bills.  In this case, the equilibrium moves up and to the right.  The end result is markets fluctuate why they try to find equilibrium once again.

B-The inefficiencies in B are as the supply goes down and less corn is being offered to the consumer, the price to the consumer increases.  In this case, the equilibrium moves down and to the left.  The end result is markets fluctuate why they try to find equilibrium once again.

6.  A more complex circular-flow diagram for the economy of Macronia is shown.   Define the terms of each of the following items and calculate their value based on the circular flow diagram. 

Circular Flow Diagram:
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a. Define GDP, giving what items comprise the GDP (4 points) and then compute the value of GDP in Macronia (4 points).
my answer:
We can measure GDP in Macronia as the sum of all spending on domestically produced final goods and services.  Spending consists of consumer spending, investment spending, government purchases of goods and services, and exports less imports, or $800 ($510 + $110 + $150 +50 -10).

b. Define net exports and the items that comprise it (4 points) and compute the value of Net exports in Macronia (4 points).
my answer:
Net exports are exports less imports.  In Macronia, net exports equal $30 ($50-20).
 c. Define disposable income and the items that comprise it (4 points) and compute the value of disposable income in Macronia (4 points).
my answer:
Disposable income is income received by households less taxes plus government transfers.  In Macronia, disposable income equals $710 ($800 -$100+10).

d. Define the elements of money flows into and out of households and compute the amounts (4 points).  Does the total flow of money out of households equal the total flow of money into households? Explain. (4 points)
my answer:
Yes, consumer spending plus taxes plus private savings equals $810 - the same as the wages, profit, interest, rent, and government transfers received by households.
e. Define the elements of flows of money into and out of the government and compute the amounts (4 points).  Explain how the government finances its spending (4 points).
my answer:
In Macronia, the government needs to finance $160 in spending ($150 on purchases of goods and services and $10 in government transfers).  The government finances $100 of its spending with tax revenue and the other $60 through borrowing in financial markets.
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